| dE/dx estimator 1 |

Ratio

Ratio

0.05

S
025—~$~m€ ...... _
az—mmémné ...... _
015— .....

R

Entries

Std Dev

Entries
Mean
Std Dev

........................

................................................

10

0.9

0.8

LI NI I = I

........

o

1 2 3 45 6 7 8 9 10
dE/dx, harm?2

Ratio

| dE/dx estimator 2 |

0.3

0.25

0.2

0.15

0.1

0.05

T T T T Entries
= : : | Mean
Std Dev

Entries
Mean
Std Dev

...................................................................

..................................................................

10

1.05 }

0.95F
0.9

-

dE/dx, trunc40

—=— DQM_TT__ORIGINAL

—e— DQM_TT__MODIFIED_layerProcv2

9707

0.07
0.06
0.05F

0.04f

0.02|

0.01

003 i f

CTTITeS ITOUT

7.681
4.874
10039
7.583
4.901

¢ | Mean
++| std Dev

.......................................

¢ | Entries

I Mean
i [ Std Dev

....................................................................

k-

0.95%

H
——e——!

1 S

0

10 20 30 40 50 60 70 80
dE/dx number of measurements

CTToTeS

| Mean

: Std Dev

0.568
0.8532
10039
0.5594
0.8514

| Entries
Mean
. [ Std Dev

.....................................................................

Ratio

=

0.95%

T,

0
dE/dx n

10 20 30 40 50 60 70 80
umber of measurements with saturation



	Contents
	Page 1


